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QUESTION ONE ASSESSOR'S

USE ONLY

(a) Find the value of 2x*> — 3xy when x = -3 and y = 4.
y y

(b)  The equation 6 = 2x% — 11x has two solutions, p and ¢, with p being greater than .

What is the value of p — ¢?

(c) Find the values of the numbers m and 7 that will make (2x + m)? = 4x? + nx + 9 true, given
that both m and n are positive numbers.
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(d) Solve the equation: w* — 18w? + 81 =0 ASSESSOR'S

USE ONLY

S5y-4 . . .
(e) If R= J 2 al , give the equation for x in terms of y and R.
y-2x
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QUESTION TWO ASSESSOR'S

USE ONLY

(a)  Given that the perimeter of the shape shown below is 34 cm, find the value of x.

Diagram is
NOT to scale

(b)  Solve the inequality: (3x +2)(2x — 1) < (6x + 1)(x — 3)
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(¢) The perimeter of rectangle A is 46 cm, and the perimeter of rectangle B is 32 c¢m, in the
diagram below.

Find the length and width of rectangles A and B.

A
: A
|
: B 1 2q
|
| C€— — — — — — — = — — >
I 5p
|
v Diagram is
D gq_ B NOT to scale
. x+2 2x-1
(d)  Solve the equation: = s =1

Mathematics and Statistics 91027, (Day 1) 2021

ASSESSOR’S
USE ONLY



6
(e)

A rug, 3 metres long and 2 metres wide, lies in the centre of a rectangular room, leaving a ASSESSOR'S
border x metres wide between each edge of the rug and the wall.

USE ONLY

The area of the whole room is double the area of the rug.

Find the width, x metres, of the border.

*

|
1 X
|
Y

3m

<«- - - 2m RUG 2mp- - - >
X x

3m

0 Diagram is
:x NOT to scale
|

Y
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QUESTION THREE ASSESSOR'S

USE ONLY

(a) What is the area of a square with sides of length (3x + 5) cm?

Give your answer in terms of x and in the form ax? + bx + c.

(b)  Solve the equation: 2* x 23 -8 =16

(¢)  Solve the equation: 2 2 = 3
x=-3 x+1 x+5
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(d)

(e)

2x2-3x-14

Simplify, as far as possible:
2x* -8

Ben has been painting some straight lines on the field for his rugby team to do some training

exercises.

The total length of all the painted lines shown in the diagram below is 20 metres.

If the shaded area is 14 m?, find the possible values of x.

Diagram is
NOT to scale
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ASSESSOR’S

Extra space if required. USE ONLY
Write the question number(s) if applicable.

QUESTION
NUMBER
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ASSESSOR’S

Extra space if required. USE ONLY
Write the question number(s) if applicable.

QUESTION
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